| Question 1 1 Jlgeadi
Write the number 7,306, 000 in the |  fdaugad disalls 7,306,000 22l 381
‘expanded form?
|
A 7,000,000 + 300,000 + 60,000
B 7,000,000 + 300,000 + 600
C 7,000,000 + 300,000 + 6,000
D 7,000,000 + 30,000 + 6,000
Question 2 2 Jljealt
What is 784, 599 rounded to the il S 784,599 samll qap s il L
nearest ten thousand? Tl Bie
A 784,000
B 785,000
c 790,000
D 780,000

i}
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Question 3

3 Jiped

Which set of numbers is wﬁthnrfrom
least to greatest?

s

A 64,785,112 ; 64,875,112

; 64,875,211

B 64,875,112 ; 64,785,112

; 64,875,211

c 64,785,112 ; 64,875,211

; 64,875,112

D 64,875,211 ; 64,875,112

; 64,785,112

— — —

Question 4

1 et

Which number unl:n_nl;l fnprlnnt'
the Associative Property of
Addition?

Tl b el dpusld. i By

A 45+ 0=45

B 16 +11 =11+ 16

c 40-40=10

D | |(16+7)+20=16+(7+20)
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Question 5 5 Jljaadl
Complete the number sentence: sdasanll ddaadl Jas]
67,456 — = 66,456 67,456 — = 66,456

A 10
B 100
c 1,000
D 10,000
Question 6 6 ™

Find 67,347 + 32,145

67,347 + 32,145 a4

A 99,482 r
B 99,492
Cc 99,592
D 98,492
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Question T 7 i gl
Find 7,640 — 5,460 7,640 — 5,460 2y
A 2,180
B 2,170
c 2,200
D 2,220
Question 8 8 gl
A bag of 18 apples was shared 6 led LLG L 5l 18 e goias gas
among 6 boys equally. How many dean A U Sl s oS gyladily Sy
apples did each boy get? Taly JS \gule
A 6
B 9
c 3
D .
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Question 9

9 JH gl

Which shows 6 times as many as
47

*4 sl el 6 uy SN Ga gl

A 10

Question 10

10 el

Which equation represents the
Commutative Property of
Multiplication?

T g ) a5 Qe

A 8x1=8

B (Bx5)x3=8x(5x%x3)

c 8x0=0

D Bx2=2x8B
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T

are 30 dirhams in each roll. How
many dirhams does Layla have

altogether?

Question 11 | gt
Which set of numbers correctly Ao Ak paad Yl (e depana sl
shows all the factors of 367 136 amll Jalge gaaa

A 0,1,2,3,46,9,12,18,36
B 1,2,3.4,6,9,12.18.36
c 1,2,3,4,9,12,18,36

D 1,.2,3,4,6,8,9,12,18,36

Question 12 12 Ut o
Layla has 7 rolls of dirham. There b e Aol adad (ggiad il 7 A dEG

,i.im:._,im 30 aap .
Tkl S 0 aa) ab ) Jae a8

A 217 |

B 120 N _

c 1 210 _

D IS'? BNl E 1
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Question

13

13 bl

Estimate. Round (7 X 4,876) to (7 % 4,876) b Loyl Lositl sl

the greatest place value.

A 2ol Y

1 A 35,000

B 28,000

c 30,000

D 25,000

Question

14

14 Jid

Multiply

337
X 8

et
337

A 1,225

B 2,496

c 2,696

D 2,446
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Question 15 15 gt
e - e — e — e —
There are 901 bookcases in the ASC b KN ol A4 901 e
library. Each bookcase includes 5 b 5 L S D
shelves. How many shelves are in TAIC b Bygagall Ligh ) ase S
the library?
A 4,005
B 4,055
c 4,555
D 4,505
Queson | 16 | 16 | s
Each classroom in the school 26 (o Giping upsall b s o S
contains 26 desks. There are 20 S 20 gl A dny .S
classrooms in the school. T jiall b Sl b ag
How many desks are in the school?
: _ wrah il - — IR
A b
B 46
C 420
D 520
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Question

17

17 Jip

Estimate the product
48 x 12 =

peall il 38
48 X 12 =

18 i

Muiltiply

56
X 24

A 1,344

B 1,224

c 1,244

D 2,404
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